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B.A./B.Sc. 1st Semest&THonours) Examination, 2022 (CBCS)

Subject : Geography ¢
|
Course : CC-II 6 88
(Cartographic Techniques and Geological Map Study)

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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Section-A

Rtz

1. Answer any five questions from the following: 2x5=10

RS @& @ 5% deig Ter we g

(a) What are the disadvantages of Representative Fraction Scale?

SARIDS (FCETT SRS S e

(b) Write down the application of ‘Local Datum’ in Cartography?

JEINEFCS BN (OO 2 @ |

(c) What type of map projection is used in Open Series Topographical Map?
S Pifie-97 SRbars MRt @i 4= WiHibg Siecws J3ge 37

(d) What is standard parallel?
2l Sl e

(e) What are the R.F. of Million Scale and Degree Sheets?
fiferm @ @R 2l B RE.-sf S Fe

(f) What is the importance of Bifurcation Ratio in Stream Ordering?

e @ FfeE oFe B-Reen wgiten wwe e

(g) What is the difference between True Dip and Apparent Dip?
oFS i @ wHite wfeq ey A e

(h) What is unconformity in Geology?
TEE SRS Hi?

24566 Please Turn Over
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Section-B

Rrete-2

2. Answer any two questions from the following: 5%2=10

WERkie @ @ 75 2veg Tex ws 2

(a) (i) The length of the rail line on the map with R.F. 1, 20,000 is measured 10-20 cm and
the same on the new map is measured 15-25 cm. Calculate the enlargement percentage
and the R.F. of the new map.

@0 AADCE, T R.F. 1 : 20,000, (6T SR (0 W9l 27 1020 GIf @22 To BT
92 A= T T 1525 G| F I <ol @ag R.F. s@ S|

(11) Write down two utilities of Vernier scale. 4+1

wiffls e 9t I9g9 @l

(b) (i) Classify map projection based on source of light and properties.
el T 6 AR Teia fefe s wibe sferwen efifieis sl

(i) What is Geoid? 4+1
Geoid 2
(¢) (1) Define drainage basin.
i SARIE e WS |
(ii) Classify topographical sheets based on R.F. and linear scale. 1+4

RF. 4R G@ERT @FER ©oiw o6 w3 Srolairs Moekm @l s@t

(d) Explain how the ‘Equal-Area’ property is preserved in Cylindrical Equal-Area Projection?
Write down the reason behind the use of Mercator’s Projection in navigation activities.

Mention the limitation of Mercator’s Projection. 242+1
CFGAG (T SOTHCA MolE Fewawet @9y AalFe 27, ©f TR S | e
A G BTN PICE AL NG IR P @10 | M5 ST Aamet
CSTERT |
Section-C
Retar-af
3. Answer any two questions from the following: 10%2=20

wakie @ @ 75 deiw Tex we ¢

(a) (i) Prepare a worksheet of comparative scale to show the distance and revolution of a
bicycle wheel on a topographical map with R.F. 1 : 50,000 (radius of the wheel is
80 cm).

R.F. 1 : 50,000-4% (Siteileifzrmiel Tt «<fb AReeet 51ie 79 @R S-S (el
G QIS (HETE G0 PG Coft Tl (Bieiw gend 80 Gl |



(3) ASH-I/GEOH/CC-I1/23

(i) Write down the principal steps to construct a diagonal scale.
T Tods oot Flfeers sy 2l Amesstef e |
(iii) What is least count? 54342
Least count 7
(b) (i) Discuss the nature of contour line orientation in making various types of slopes in
topographical map.

SrAbarp AW [fer e ot o Hfice simafe @m ReBie 479 s
Al °

(ii) Write down the limitation of method of slope measurement by Wentworth.

SEHEANAT i T siwfon Suael @

(iif) Discuss the procedure of delineating drainage basin from the Survey of India
Topographical Map. ; 5+2+3

A0S o TR GiesiiiReaier Mfby (e T SRl Fataies s&fe siEsa v |

(c) (1) Discuss the process of measuring the amount and direction of dip from a geological
map

eifge Mnbe (e afen At e i Wefma Aafe @i s |
(i) How do you identify Dyke and Sill from a geological map?
veifés WHiba (AF o e ©iEs ¢ e e wad?
(iii) What do you mean by ‘Throw’ and ‘Heave’? 6+2+2
@l 4R &S e F @R
(d) (i) Explain the types of unconformities in different geological settings.
ffen weifes RIET unconformities-491 45 T Sl |
(ii) How to identify the folded structure from a map?
@ A= (AT ofer oio Feld e 1 T2
(ii1) Explain the method to measure true and apparent dip.
True 9<% Apparent Dip #f&icoq s/afs i< el |
(iv) Interpret the geological history of the region from the given geological map. 3+2+2+3

2 gelfes T (At wwEbe welfes 3fonm am |
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